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4.9 More Factoring - Putting it All Together

Factoring Decision Tree

Greatest Common Factor

Count the # of Terms

v

T~

2 Terms 3 Terms 4 Terms
Difference of e Perfect Square Trinomial Factor by grouping
Squares e x%+bx+c Simple Trinomial

\ e ax*+bx+c Complex Trinomial

Can you factor more?
YES: Go back to the start
NO: All done!

Check your answer
by EXPANDING
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Ex. 1 Factor, if possible.
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Ex. 2 Factor, if possible.
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b) 20x2+100xy+125y?
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Ex. 3 Factor, if possible.
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b) 4mn+3m+12n+9
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Ex. 4 The area of a rectangular swimming pool is /’ég
represented by A=10x2+ 11x- 6. 3 20
/5
a) Determine an expression for the length and width of the pool.
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b)  Determine the length and width of the pool if x=5m.
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c) Determine the area of the pool if x=5m.
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